Add

1101 [dDn3| 001000 | sDnj
1101 |dAn3| 011000 | sDnj
Subtract 1001 {dbn3| 001000 | sDnj
Multiply 1200 |dDn3| 111000 | sDnj
Divide 1000 |dDnsy} 111000 | sDnj
Compare 1011 {dDn3{ 001000 | sDnj3
Swap 0100100001000 dDn;
Move (register to register) 0011 |dDn3| 000000 | sDnj
0011 dAI‘13 OOlOOQ sDnj
0011 } dDn3} 000001 | sAn;
0011 |dan3] 001001 | sAn;s
Move (register to memory) 0011 | An; 101001 | sAn;
Displacementig
0011 | An; 101000 | sDnj
Displacementig
Move (memory to register) 0011 |{dAani| 001101 | sAnj
Displacementig
0011 (dDn3| 000101 | Anj
Displacementig
Move (memory £O memory) 0011 | An; 101101 Ans

s-Displacement:g

d-Displacement;g

Branch (unconditional)
Branch on egqual
Branch on greater

‘Branch on less

01100000 {Displacementg

01100111 |Displacementg

01101110 |Displacementg

01101101 |Displacementg

Stop, dump

010011100100

0000




